
 
FB23454F & FB33455F 

 

Jeep® JL Wrangler & JT Gladiator 
JL & JT Front Elite Fenders 

 

 
23454F & FB33455F00 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
REQUIRED TOOLS 
5mm Allen 
3mm Allen 
8mm Wrench 

 
 
Note: These instructions will NOT 
cover how to remove factory 
fenders or inner fenders, and will         
NOT cover how to install inner 
fenders.  Instructions on how to 
do so are available on 
www.FishboneOffroad.com , or 
www.FishboneOffroad.tv .

 
 
KIT CONTAINS 
Front Fender (Left & Right) 
Rubber Seal 
M8 25mm Button Head Bolt 
M8 Flat Washer 
M8 Serrated Nu 
Part# FB31456 -  
FB61452 LED Turn Signal 
LED Retaining Bracket 
M5 30mm Button Head Bolt 
M5 Flat Washer 
M5 Nut Plate 
 

 
 

QTY 
2 
2 

24 
24 
24 

 
2 
2 
8 
8 
8  

http://www.fishboneoffroad.com/
http://www.fishboneoffroad.tv/


 
FB23454F & FB33455F 

 

Jeep® JL Wrangler & JT Gladiator 
JL & JT Front Elite Fenders 

 

1 
23454F & FB33455F00 

1) REMOVE 
Begin by removing any inner and outer fenders your 
vehicle currently has installed.  

 
 
2) PREPARE 

The included rubber seals are driver and passenger 
side specific.  Identify which side which is which by 
the bolt hole indents in the rubber.  Peel off the 
backing and carefully apply the seal to the vehicle 
side wall of each fender. 

 
 
3) INSTALL FRONT FENDERS 

Hold the corresponding fender up to the vehicle 
and begin loosely securing it with 12 of the included 
M8 bolts, washers, and serrated nuts. 

 
 
4) INSTALL TURN SIGNALS 

Please refer to the included installation instructions 
for the LEDs, Part# FB31456 
 


